El. E, keV

= ter/eV
THEMIS-C 2008-5-27, El. Spec. & Moments. FieldS. coeoted: mon oct 05 11:26:27 2000 EFU = eV/sec/cm2/ster/

1.0000 5
3 I 0.1000 L
B o.o1oo?§
o ‘ 0.0010 @
‘ 00
0.10 : ) : 9’ o103
oy
0.01 8%
g 0.6¢
o L
8 0.4
e 02%
3 n
: . = 1.0 5
1 B = 0.8
.8 150 _:= - g _= EE_ - f E= 0’6 o
: = == 0.4 <,
s 100 = A :
: § == B lBg E = 0.2 3
5 = x
< S0 i
] 063
T ) -
: ar per 0.4 5
8 60 N, i ;
'_' - ‘ ﬁ 0.2 5
z 20 M"“MW Rl S SO '9-
m % s
s S i 0 ;i
E o ‘ ~\ 17 M‘u“’)“” o T Rl AW —IO “
> 0 ) e Pt | 10 c
E -10 /‘ n’ Mo TN E
~ -20 T : 7
B _—IOSQ
_4 E
10 _:K :_50 u%
3 Eo
c 3— ] :
" o F—-50
-50 3 E
o 10
10 = o
<03 -10®@
[ =4
P 20
e 1.000
_gg 0.100 _
[
g 0 0.010 <
: 2 0.001
g 20
o 1.000
p 0.100 =
£ 0.010 ¢
€ 39 c
: 0.001
g 20
"o 1.000
e 0.100
£ 0.010 =
€ 30 ¢
: 0.001
g 20
o 1.000
20 0.100 e
% % 0.010 ~
2 0.001 ~
g 20
& 10




